03156-02 T45NEZE B & ( BIHEHEEA )

EDELSTAHLI@® S
Rost F ﬁ':ulﬁ.ﬂﬂ
frei
STAINLESS STEEL *j‘*sl—
T 1.4548,
WA
ZIELALE  BEEAKT 40HRC , B8,
BN
RE T B E 1R
RERT
1) KR
0,003
L 3x120° D5:90%
08 o
ke D6
// Z | D7 (3x120°)
s | - / | 8 A
HE 5 sk % S
& 0,8 Q wl ¥ g ; %72/ ]
AN G i ‘ ms ZAVAR B
| N ) j/;// ! /; ;g
TS | W ////" 2 1
(g
L1 S B| D4
D4 i |,  O5te
03156-02-13 13| 17,3 34,99 4.4 25 11,56 45 | 76 | 35 13,5 M4x7 20 11,91 20
03156-02-16 16 | 20,7 36,99 4.4 29 11,56 45 | 76 | 37 21 M4x7 20 11,91 20
03156-02-20 20| 24,8 44,99 5,4 35 15,82 6 9,5 | 45 21 M5x9 25 16,21 25
03156-02-25 25| 30,4 54,99 6,4 42 19,94 7 11 55 25,5 M6x10 25 20,32 25
03156-02-30 30| 36,2 59,99 6,4 48 21,77 7 11 60 30,5 M6x11 30 22,15 30
03156-02-35 35| 41,3 69,99 8,4 56 22,61 9 14 | 70 40 M8x17 32 22,99 32

© norelem www.norelem.com




03156-02 FEMiESE B B ( FEHEA )

03156-02-50 , , M10x18

© norelem www.norelem.com



